sHliTE (5297KHE)

® HI2U/KA (GEEPEEHM) (ITFEROEHD,

s : 555

e 130):

M= 40

mEHANGERER. LPAVNGEREES | d %k

ZHE
iy =1 IOVIKE (B=FEK)
m/\EEREESE
e 1458
Bt : 902 * % % % %k : 90%LL E

* Kk kK : 70%LL E90% K

* kK : 50%LL_£70%KiE
: 30% LA E50%Kiis
* : 10%LA E30%Kim




ST =Py

R

4
[hr 58 BT

U0

R#TE

I
I
m
Il
=

IBINEE1.
IMEBIFILFT—DERIRCETIE
b2

IBNNEE2.
HIEIIERDEIRIBKICRITDEIR

IBNNEE3.
R [cEHHNC
IR+ —HEBBZDREULITER

IBINEE4S.
—ACHBENMTOBRROBEDRE
{EICE I 31ER

{88t1.(5) zofth. IXILF—DEROES

B{LcRAL T RS EBE0THEDZ(ET

BRE. IRIFHEEEF0RIEICLD

EETZ—INEBEESIYTIIILE—0fE

HAo&IB{bicETIEMmDiRM

(LU TFoWgnhzEhe

1. IXF-HNE - EHE0FEH A

2. BT RIB(CHET 2B RS0,
AR NDRRE

3. CO28FH8nR 231k

4. REEOBIROBEDSE

5. Z0fth

(NEEREERRE)

BHgm[9053]

OIRMtoBE .
152 x518H
=755

OFEHMMH : 1552

M=A[2053)
ORMEOEHE :
4o x4IBH = 1653
QMM -
1mx4I8H =453

M= (5]
ORMOESR : 55

a5t : 1453i=

hs=
SEERL. ENERD. ENEa3. BNERS. Z0MiRatS AR T 3RIE T
ATXEBHO | BEREERCL | RETFEEON KB QLT NHEEHE
BEIIAIT | FERIBESE | ERAED3IIE | 1. SRRERIEY—LOER
DTy 1 EDER OT* 2. BROBEHOT X
iR ENERL. | 3. EE-—A0Est- Kk
IRTAEROM | 4. EER T IRE
BEOUE | 5. z0ft
MsR[10sm]) Nes(1558]
OZeDEH : THxoaH:
5 x2IBH =105 105 = [5;3—3]
OO EHE : 555
YERNBTEICIDTH OFERD
L TUNESS SBITE : 555




SRl =P IOy =]

B L
o Ll

El

RHSE

e

IBNIER3.
KR (cEHMNC
IxINF—HESZ 0 REUICER

18811.(5) Zofth. IRILF-DERAOE

BRI T—REEEBE0THESZET

BIRE. IRILT—HRSBEFORIECLD

Ehd3—AVEBEEMTOIIULE-0fE

HoalB{ticEJ3EmniRt

XL TFOWITNHEEE

1. IXF—FE - FEREDFAH X

2. BAIX-RIB(CAT2HEHRSOIRED,
AR hORE

3. CO2HHEEnRE 231k

4. FECEOEAIROBEDRE

5. Z0fth

(HHHAARVPLPHANTGERE)

&5t : 130208
e 0SS
EBNERL. ENNER2. ENNERS. BINEES. 2O AR 2RIRTE
AIREHHD BEREMZECL | IRETIERORM XU FonITnha=Eh
=EIIMIIT EERIEMAE | BERESHITE | 1. SELBERREY-ILOER
T =p = 0Ty 1 BI0ER 0TIk 2. BBROKEADIE
R ENNEEY. 3. BEE_—ADE:t- R
RHTIFERORA | 4. BEN OO TIHS
BEORIE 5. TOAh

Bigm[90=R]
O}E{ @ﬁ"\\ .

15 x5I8H

=75m
O @ 153
=[10=A] Im[15=]

M=[55]) OZ=MenEH : TROBEH :
OBy - Srx 21AH = 1053 1055 MA[55]
45 x1IBH =45 OEHOBHE : 5
ORI - XEREILC1IDOTE OMIBEZHRD
1Ex1EE =15 EhtaL TLN(E5 5 SBITE : 55

MR [5:1]
OIRMHOBM : 55




[(EE]AIRIZ1I=T5—23> - 50F VHEDRROAR

o :HMIERONTRICE T 5EH
> EHHHEN30BHFBOEREICOVNTIE, FTHEER (X2 [CBEAH5TRAART S,

> BRAMN30GHUFOBEEIOVTE. IHHRERE (%) CEh5TAREEL
HIELBOHFMEREAET 3.

> MRESERE (x5) [OVTHE, BRESZIBRUELTARIS. (20245FE
&DEE)




